2 pages Discussion question on Capital Structure Choices Examine the structure and activities in your reference organization and identify two projects or events that required an investment.  One should be current and the other non-current.

Reference Company: IBM Corporation

For each project or event, identify the preferable source of funding.  You may not have access to the actual source of funding so limit your paper to the source YOU feel is most appropriate.  Then explain why you feel that source is most appropriate.  Your explanation is the most important part of this paper.  The discussion paper should be only two pages in length.
Two projects that requires an investment:

1.
Setting up in Software development center in India
This is related to the current activities, as IBM is providing software and consultancy services to leading MNCs and other corporates globally. India will be a good location for IBM to expand its software development due to its cost and quality advantage.
1.
Issue of Equity Shares

Equity can be raised either by private placement or by public. IBM has got strong track record; thus it can use this route to raise money. It has following features:

· Claim on Income and Assets:
Shareholders have the claim on income and assets of the firm. 

· Right to Control
· Voting Rights
· Pre-Emptive Rights
· Limited Liability
Advantages of raising shares 

· Permanent Capital

It need not be paid back 
· Borrowing Base

It can be used to trade on equity
· Dividend Payment Discretion

The payment of dividend is in the hands of management
Disadvantages

· Cost: 

It is more costly than debt

· Earnings Dilution:

 It involves reduction in EPS.
· Ownership Dilution: 

It involve sharing of ownership
2.
Setting up new division for wireless technologies in Japan

This is a new but related diversification. It can raise money 50% by convertible warrants and 50% by zero interest debentures

Convertible warrants

A warrant entitles the purchaser to buy a fixed number of ordinary shares at a particular price during a specified time period. It is similar to an American call option.

Benefits


Sweetening Debt
It is more attractive than plain vanilla bond offer.

Deferred Equity Financing
Thus immediate dilution of equity is avoided.

Cash Inflow in Future
Other Advantages

Investor enabled to have access to shares without investing now.
       Enables promoters to increase their holdings.
Zero-Interest Debentures  

ZID or zero coupon bonds or deep discount bonds do not carry an explicit rate of interest. The difference between the face value of the bonds and its purchase price is the return to the investors.

It has got following benefits:

· It does not involve any current cash outflow.
One can estimate and have fund to pay the liability of the debenture          

· REFERENCE:

· FINANCIAL MANAGEMENT: I.M. PANDEY

· My previous papers

· www.investopedia.com
